ITCM 410 – Construction Surveying

Class Assignment #1

January 20, 2011

1)
Field survey data provided to you indicates a traverse was set up on which a line between points 2 to 1 were determined by field survey to have a bearing of S 22°15’30” E and a distance of 725.32 feet.  Coordinates for point 1 are N 5000.00, E 5000.00.  An angle was measured to the right from point 2 with a back sight of point 1 of 281°23’12” and distance of 652.35 feet establishing point 3.


(1)
Draw a sketch of the traverse.

(2)
Determine the angle to the right 2-3-1 to close the traverse.


(3)
What is the bearing of the line 2-3, 3-1?


(4)
What is the distance of line 3-1?

(5) What is the area in acres of the traverse 1-2-3?

(6)
What are the coordinates of points 2 and 3?

